VENDOR LOT SUMMARY

Quotation No. 9975-11-Q Quote Title: Complete Landscape Maintenance of Engineering Field Division Facilities

RFQ Closing Date - November 8, 2010 RFQ Closing Time: 5:00 p.m. P.S.T. Buyer: Frank Moreno, CPPB CPC: cnn Quote Tab by : Celia Navarro

	ADDENDUM	ADDENDUM	CASH DISCOUNT		DISCOUNT	
VENDOR	А	В	TERMS	TOTAL BID	AMOUNT	FINAL BID TOTAL
PRECISION LANDSCAPE MAINTENANCE INC.	N/ATT	N/ATT	20/35%	\$22,210.20	\$7,773.57	\$14,436.63
WESTTURF LANDSCAPE	NN/NATT	NN/NATT	20/20%	\$18,578.00	\$3,715.60	\$14,862.40
BLUE SKIES LANDSCAPE MAINTENANCE	N/ATT	N/ATT	NET 30	\$16,152.00	\$0.00	\$16,152.00
PONDEROSA LANDSCAPE, INC.	N/ATT	N/ATT	20/1%	\$17,781.00	\$177.81	\$17,603.19
ARTISTIC SOLUTIONS LANDSCAPING	NN/NATT	NN/NATT	20/2%	\$18,689.00	\$373.78	\$18,315.22
EXECUTIVE LANDSCAPE INC.	N/ATT	N/ATT	NET 30	\$18,781.00	\$0.00	\$18,781.00
NISSHO OF CALIFORNIA, INC.	N/ATT	N/ATT	20/5%	\$21,430.00	\$1,071.50	\$20,358.50
JCMS LANDSCAPING	N/ATT	N/ATT	NET 30	\$21,212.00	\$0.00	\$21,212.00
BREWER LAWN MAINT. INC.	N/ATT	N/ATT	20/4.5%	\$22,428.00	\$1,009.26	\$21,418.74
COAST LANDSCAPING INC.	N/ATT	N/ATT	20/7%	\$23,100.00	\$1,617.00	\$21,483.00
AZTEC LANDSCAPING INC.	N/ATT	N/ATT	20/.5%	\$22,084.81	\$110.42	\$21,974.39
SOUTH PACIFIC LANDSCAPING	N/ATT	N/ATT	30/2%	\$22,784.84	\$455.70	\$22,329.14
LANDCARE LOGIC	N/ATT	N/ATT	20/21.0%	\$31,120.10	\$6,535.22	\$24,584.88
Q3 PACIFIC, INC.	N/ATT	N/ATT	20 days	\$26,816.20	\$0.00	\$26,816.20
GREENSCAPE	NN/NATT	NN/NATT	20/2%	\$28,672.00	\$573.44	\$28,098.56
ACACIA LANDSCAPE	N/ATT	N/ATT	20/1%	\$29,694.00	\$296.94	\$29,397.06

QUOTES MAILED: 22

QUOTES RECEIVED: 16

ABBREVIATION KEYS:

N/ATT = NOTED/ATTACHED NN/NATT = NOT NOTED/NOT ATTACHED

NOTE: JCMS Landscaping did not submit Extraordinary Labor cost.

VENDOR: ACACIA LANDSCAPE

I. PRICING PAGE

A. SUMMARY OF TASKS

Est. Qty	U/M	Description	Total Cost Per Month	Total Cost Per Year
5.84	ACRES	Engineering Field Division Facilities	\$2,141.66	\$25,694.00

B. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
200	HR	Extraordinary Labor	\$20.00	\$4,000.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

 TOTAL SECTIONS A & B:
 \$29,694.00

VENDOR: ARTISTIC SOLUTIONS LANDSCAPING

I. PRICING PAGE

A. SUMMARY OF TASKS

Est. Qty	U/M	Description	Total Cost Per Month	Total Cost Per Year
5.84	ACRES	Engineering Field Division Facilities	\$1,274.08	\$15,289.00

B. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
200	HR	Extraordinary Labor	\$17.00	\$3,400.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

TOTAL SECTIONS A & B: \$18,689.00

VENDOR: AZTEC LANDSCAPING INC.

I. PRICING PAGE

A. SUMMARY OF TASKS

Est. Qty	U/M	Description	Total Cost Per Month	Total Cost Per Year
5.84	ACRES	Engineering Field Division Facilities	\$1,548.7341	\$18,584.81

B. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
200	HR	Extraordinary Labor	\$17.50	\$3,500.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

TOTAL SECTIONS A & B: \$22,084.81

VENDOR: BLUE SKIES LANDSCAPE MAINTENANCE

I. PRICING PAGE

A. SUMMARY OF TASKS

Est. Qty	U/M	Description	Total Cost Per Month	Total Cost Per Year
5.84	ACRES	Engineering Field Division Facilities	\$1,046.00	\$12,552.00

B. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
200	HR	Extraordinary Labor	\$18.00	\$3,600.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

TOTAL SECTIONS A & B: \$16,152.00

VENDOR: BREWER LAWN

I. PRICING PAGE

A. SUMMARY OF TASKS

Est. Qty	U/M	Description	Total Cost Per Month	Total Cost Per Year
5.84	ACRES	Engineering Field Division Facilities	\$1,619.00	\$19,428.00

B. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
200	HR	Extraordinary Labor	\$15.00	\$3,000.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

 TOTAL SECTIONS A & B:
 \$22,428.00

VENDOR: COAST LANDSCAPING, INC.

I. PRICING PAGE

A. SUMMARY OF TASKS

Est. Qty	U/M	Description	Total Cost Per Month	Total Cost Per Year
5.84	ACRES	Engineering Field Division Facilities	\$1,625.00	\$19,500.00

B. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
200	HR	Extraordinary Labor	\$18.00	\$3,600.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

TOTAL SECTIONS A & B: \$23,100.00

VENDOR: EXECUTIVE LANDSCAPE INC.

I. PRICING PAGE

A. SUMMARY OF TASKS

Est. Qty	U/M	Description	Total Cost Per Month	Total Cost Per Year
5.84	ACRES	Engineering Field Division Facilities	\$1,298.42	\$15,581.00

B. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
200	HR	Extraordinary Labor	\$16.00	\$3,200.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

TOTAL SECTIONS A & B: \$18,781.00

VENDOR: GREENSCAPE

I. PRICING PAGE

A. SUMMARY OF TASKS

Est. Qty	U/M	Description	Total Cost Per Month	Total Cost Per Year
5.84	ACRES	Engineering Field Division Facilities	\$2,056.00	\$24,672.00

B. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
200	HR	Extraordinary Labor	\$20.00	\$4,000.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

TOTAL SECTIONS A & B: \$28,672.00

VENDOR: JCMS LANDSCAPING

I. PRICING PAGE

A. SUMMARY OF TASKS

Est. Qty	U/M	Description	Total Cost Per Month	Total Cost Per Year
5.84	ACRES	Engineering Field Division Facilities	\$0.00	\$21,212.00

B. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
200	HR	Extraordinary Labor	\$0.00	\$0.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

 TOTAL SECTIONS A & B:
 \$21,212.00

VENDOR: LANDCARE LOGIC

I. PRICING PAGE

A. SUMMARY OF TASKS

Est. Qty	U/M	Description	Total Cost Per Month	Total Cost Per Year
5.84	ACRES	Engineering Field Division Facilities	\$2,219.18	\$26,630.10

B. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
200	HR	Extraordinary Labor	\$22.45	\$4,490.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

 TOTAL SECTIONS A & B:
 \$31,120.10

VENDOR: NISSHO OF CALIFORNIA, INC.

I. PRICING PAGE

A. SUMMARY OF TASKS

Est. Qty	U/M	Description	Total Cost Per Month	Total Cost Per Year
5.84	ACRES	Engineering Field Division Facilities	\$1,510.83	\$18,130.00

B. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
200	HR	Extraordinary Labor	\$16.50	\$3,300.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

 TOTAL SECTIONS A & B:
 \$21,430.00

VENDOR: PONDEROSA LANDSCAPE, INC.

I. PRICING PAGE

A. SUMMARY OF TASKS

Est. Qty	U/M	Description	Total Cost Per Month	Total Cost Per Year
5.84	ACRES	Engineering Field Division Facilities	\$1,215.0833	\$14,581.00

B. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
200	HR	Extraordinary Labor	\$16.00	\$3,200.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

 TOTAL SECTIONS A & B:
 \$17,781.00

VENDOR: PRECISION LANDSCAPE MAINTENANCE INC.

I. PRICING PAGE

A. SUMMARY OF TASKS

Est. Qty	U/M	Description	Total Cost Per Month	Total Cost Per Year
5.84	ACRES	Engineering Field Division Facilities	\$1,532.52	\$18,390.20

B. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
200	HR	Extraordinary Labor	\$19.10	\$3,820.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

TOTAL SECTIONS A & B: \$22,210.20

VENDOR: Q3 PACIFIC, INC.

I. PRICING PAGE

A. SUMMARY OF TASKS

Est. Qty	U/M	Description	Total Cost Per Month	Total Cost Per Year
5.84	ACRES	Engineering Field Division Facilities	\$1,948.00	\$23,376.20

B. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
200	HR	Extraordinary Labor	\$17.20	\$3,440.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

TOTAL SECTIONS A & B: \$26,816.20

VENDOR: SOUTH PACIFIC LANDSCAPING

I. PRICING PAGE

A. SUMMARY OF TASKS

Est. Qty	U/M	Description	Total Cost Per Month	Total Cost Per Year
5.84	ACRES	Engineering Field Division Facilities	\$1,559.57	\$18,714.84

B. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
200	HR	Extraordinary Labor	\$20.35	\$4,070.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

TOTAL SECTIONS A & B: \$22,784.84

VENDOR: WESTTURF LANDSCAPE

I. PRICING PAGE

A. SUMMARY OF TASKS

Est. Qty	U/M	Description	Total Cost Per Month	Total Cost Per Year
5.84	ACRES	Engineering Field Division Facilities	\$1,248.17	\$14,978.00

B. EXTRAORDINARY LABOR

Est. Qty.	U/M	Description	Cost Per Hour	Total Cost
200	HR	Extraordinary Labor	\$18.00	\$3,600.00

NOTE: The cost of the five hundred (500) hours of extraordinary labor will be added to the bid price to determine the overall low Bidder.

TOTAL SECTIONS A & B: \$18,578.00